
Keine%Zugriffswahrscheinlichkeiten%gegeben%=>%Versuche%Baum%balanciert%zu%halten!%
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logarithmische%Höhe%?>%Zugriff%in%logarithmischer%Zeit%
%
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Hier%interessant:%Höhenbalance!%=>%Kurze%Pfade!%
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AVL:%Adelson?Velski?Landis%
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Imbalance%wird%durch%RotaQon%wieder%ausgeglichen.%
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1.%RotaQon:%Bringe%„Problem“%nach%außen%
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2.%RotaQon:%Behebe%„Problem“.%Beachte:%Es%sind%zwei%RotaQonen%nöQg,%um%
Imbalancezustand%in%einen%Balancezustand%zu%überführen.%
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Verwendung%z.B.%in%C++?STL%
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Z.B.:%Perfekt%balancierter%Suchbaum%mit%nur%schwarzen%Knoten%
%
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Kürzester%Pfad:%Nur%schwarze%Knoten%
Längster%Pfad:%Füge%zwischen%zwei%schwarzen%Knoten%jeweils%einen%roten%ein%
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bh(x):%Anzahl%der%schwarzen%Knoten%auf%allen%Pfaden%ab%Knoten%x%
%
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Onkel%rot:%Fall%1;%Onkel%schwarz%+%innen:%Fall%2;%Onkel%schwarz%+%außen:%Fall%3%
%
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Minimiere%erwartete%Anzahl%der%Knotenzugriffe%
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IntuiQon%für%Umfärbung:%Schwarze%Marke%bleibt%oben%liegen%
%

57% 58%



59%

maximal%2%RotaQonen,%da%nach%Fall%3%das%Problem%ganz%gelöst%ist%(keine%PropagaQon%
von%rot?rot%Kollisionen%möglich,%da%oberster%Knoten%dann%schwarz)%
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Bruder%rot:%Fall%1;%Bruder%schwarz%+%Neffen%beide%schwarz:%Fall%2;%Bruder%schwarz%+%
innerer%Neffe%rot%+%äußerer%Neffe%schwarz:%Fall3;%Bruder%schwaz%+%äußerer%Neffe%rot%
(innerer%Neffe%egal):%Fall%4%
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Knoten%mit%nur%einem%Nachfolger:%Wir%haben%die%Bläker%ausgeblendet!%Tatsächlich%
haben%alle%Knoten%zwei%oder%null%Nachfolger,%aber%die%Bläker%enthalten%keine%
InformaQonen%und%können%daher%beliebig%gelöscht%oder%eingefügt%werden,%um%diese%
Bedingung%wiederherzustellen.%Nur%ein%Nachfolger%bezieht%sich%also%auf%„nur%ein%
Nicht?Blak?Nachfolger“.%
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Bei%schwarzen%Knoten%müssen%wir%aufpassen,%weil%die%Anzahl%der%schwarzen%Knoten%
in%jedem%Teilbaum%gleich%sein%muss.%
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Es%gibt%nur%zwei%Elementare%OperaQonen:%umfärben%und%roQeren.%
%

79% 80%



81% 82%



83% 84%



85% 86%



87% 88%



89% 90%



91%

Jetzt%haben%wir%Fall%3%in%Fall%4%überführt.%
%

92%



93% 94%



95% 96%



97% 98%



99% 100%



101% 102%



Maximal%3%RotaQonen,%da%die%Folge%Fall%1,%Fall%2%zur%Lösung%aller%Konflikte%führt%(der%
oberste%Knoten,%der%die%schwarze%Marke%erhält,%muss%rot%sein%und%damit%sind%alle%
Konflikte%durch%Schwarzfärbung%dieses%Knotens%zu%beheben)%und%ansonsten%die%
maximale%Fallfolge%Fall%1,%Fall%3%und%Fall%4%mit%jeweils%einer%RotaQon%ist%(nach%Fall%4%ist%
sowieso%alles%gelöst)%
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B?Bäume%können%so%konfiguriert%werden,%dass%sie%an%die%Anforderungen%spezifischer%
Hardware%angepasst%werden%können%(z.B.%besQmmte%Speicherblockgröße%opQmal%
ausfüllen).%
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while%stak%if,%da%der%Verzweigungsgrad%jetzt%größer%als%2%sein%kann%und%nicht%konstant%
ist%
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Binärbäume%wachsen%an%den%Bläkern%–%B?Bäume%wachsen%an%der%Wurzel%
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Sobald%in%rekursivem%AbsQeg%festgestellt%wird,%dass%ein%Knoten%voll%ist,%wird%dieser%
zunächst%einmal%gespliket,%bevor%weiter%abgesQegen%wird.%
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